Hookin’ to the Beat — 3D Peyote Star — Quilters Series No. 3

The number of beads to be used for any
particular colour will be showninthe box
forthat colour together with the letter (ie
28, 45, ete.)

Haowever, where a number/letter cambais
shown in brackets such as (44) or (24), this
indicates that the beads should be woven

together such asinthe base round arin
corner herringhone stitches.

Code Colour MNo. of beads per warped square
A Aqua 32
B Black 152
C Capri Blue 28
D Brown 72
E Dk Seafoam 128
F Lt Green 64
G Yellow 128
H Lt Yellow 64
] white 268
K Shell Pink 32

Knowledge of how to make [ Bl BGE B OB Bl BeE B Bel Bel 8 B BN RGN |

warped squares and 3D
Peyote Stars is assumed

Please note that this particular
pattern belongs to Hookin’ to the
Beat and, as such, should not be

used except for your own personal

use. You may sell the items you

make from this pattern, but not
the pattern itself!
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Hookin’ to the Beat'— 3D Peyote Star — Quilters Series No. 3

PLEASKE CAREFUL NOTE OF ANY BRACKETS! Written Instructions for
R1
Warped Square / (Make 5

R2  [(2a)] ro [(26)] 2F [ 1€ U 1€ [ 2F R16 [(26) G| U u 16
(24) EEEEIE = FIEG (26) 16| U u |16 for 3D Peyote Star)
(2A) (2E) 2F | 16 LY 1€ | oF (2G) 16| v u |16
(2a)] (26)) [ 2F |1 1Y 1| 2F (26)) 16| v U |16
R3 [2a)] [ R10 [(2€)| rRi7[(2)] [16[2H]16 18 [T} 18 7N 18 1G[2H] 16
(2a) [ [(2E)| ()] [16]2H]16 1B 18 18 1G [2H |16
(2a)] [ (28)] (2] [16]2H]16 18 [T 18 [T} 18 16 [ 2H |16 =9
(2a) U [(2E)] ()] [16]2H]16 ] v By u U 16 [2H]16 @
R4 R11{(2)] R18 TEIEIEIEE = 1 = B 16| H|16| v Q@
()] uUl16|1H[16| v [N v LN v U 16[1H[16| v
()] ul1c|H[16| v BN v BLN v B 16| H|16| v %
()] ulic|H|1c| v N u BEN v U 16 | 1H]16| v
Rs  [(2)] R12 [(26)] u2E|aF|2e{ v [2E[2F[2E]| 1 R19 18 1B 1B 1B Q@
()] (26) ulaefar|ae| v ]ae|2r2e] 1 18 T 18 [ET} 15 1] 1=
()] (26)| vlae|ar|2e| o [2ef2r[2e] v 18 ] 18 [ET] 15 [T} 18 g ;
() (26)] vae|[ar|1e| 22| 1F|2E| v 1B 1B 1B 1B )
R6 [(2E) rizfi26)) [16[v[2e] v Y u[2e] v ]1G R20 iy u Y > FY u B
(2E) (2G)] 16| v 26| u BN v 2] v1G 18 [T 18 B2} 18 1B @
(2€) (26) 16| v 26| v EEW v [26]| U [16 18 [ 1 [EF] 18 18
[(2€)) 26)) (16| v 2| v BEY vl2e] v Y U BtY 2 ETY u BT Jr_@
R7  [(28)] 1] rufze) [H[we[v[eE[v|EXulE]u]c]H] ra P
(2E) 1€ 26)) [wH|16| v 1| v PiW v |1E| v 16| 1H 0
(2E) 1€ 26)) [H|1c| v [1e| v BEW v [2E| v 16| 1H S
(2E) 1E 26)) [H]16| v 2| v LY v [1E| v 16 [H o=
R [(26)] 1F [ 16| o [ 1€ | 1F R15 [(26)] 2H 18 [T} 18 [T 18 [T} 18 2H F/\a
(2€) aF [ 16| 2 [2€ ]| 1F (26)] 2H 18 1B 1B 1B 2H
(2€) 1F| 1] 2 [1e] 1F (26)| 2H 18 1] 18 [F1} 18 1B 2H @
(2E) 1F|ae| v aE]2F (2G) 2H 18 7] 18 [T} s ] 18 2H @
Zip Row
Once Row 21 is done, do an extra row on next two sides to enable zipping of the warped squares together:
Y =*PFEY "B 'EY B <Y« [ EY=PFPEY B B B <Y« [ Dia

mmpresents the single bead at either end (and top) of the zip row



